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Function03 Answers for No.9790

Ansl .1 > gray
.2 > yellow
.3 > red
.4 > Dblue
.5 > green
.6 > black
ans | 2 o 3 . 4 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (-1, 1nflnlty) | (=25,infinity) | (0, 1nf1n1ty) | (-infinity,49)
.4 (=5,0), (=3,0) | (-2,0),(8,0) | (4,0) | (=7,0),(7,0) |
.5 (-4, —1) | (3, —25) | (4,0) | (0, 49) |
.6 | Minimum | Minimum | Minlmum | Maximum |
.7 min = -1 | min = =25 | min = 0 | max = 49 |
_I=[ AreaS(x)zx2 I
" [AdreaR =x (x+10)
B B 1 =[Income(x) = (6000 + 600 x) (130 —x)] .3=56
Ans6=['] ‘[ZPE’“[)ng((3)80372660’]C)x]}, Ans7 = 2= {13800, 70200} . Ans8 = 4=13
= L&V 3 =[42000, 2940000 ] 5_[AS=169}
4R =299
L 6=[f(x)=10x] |
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X

Function03 Answers for No.9888

Ansl .1 > yellow
.2 > black
.3 > gray
.4 > red
.5 > green
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (- 1nf1n1ty, ) (-1, 1nf1n1ty) | (=49, infinity)
.4 (7,0) | (30)( 0) | (=9,0), (=7,0) | (-6,0),(8,0) |
.5 | (7,0) | (-1,4) | (- 8 -1) | (1, -49) |
.6 | Maximum | Max1mum | Minimum | Minimum |
.7 max = 0 | max = 4 | min = -1 | min = -49 |
_1=[ AreaS(x)zx2
' AreaR =x (x +4)
3 3 I =[Income(x) = (6000 + 600 x) (110 —x)] 3=32
Ans6=[1 - Z[Ii (EC6) 6‘6(6470013303;3’6])"]}, Ans7 = 2= {19200, 52800} . AnsS = 4=5
B R 3 =1[36000, 2160000 ] 5_[AS=64}
~L4R =96
L 6=[f(x)=4x]
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Function03 Answers for No.9926

X

Ansl .1 > red
.2 > blue
.3 > gray
.4 > green
.5 > yellow
.6 > black
ans | 2 o 3 . 1 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-1, 1nf1n1ty) | (- 1nf1n1ty, ) (- lnflnlty, ) (0, 1nf1n1ty) |
-4 (=6,0),(=4,0) | (=2,0),(2,0) | (3,0),(5,0) | (=1,0) |
-5 (= 5 —1) | (0,4) | (4,1) | (=1,0) |
.6 | Minimum | Max1mum | Max1mum | Mlnlmum |
.7 min = -1 | max = 4 | max = 1 | min = 0 |
| =[ AreaS(x)=x" I
' AreaR=x (x+2)
1 =[P(x)=(600—0.1x)x] 1 =[Income(x) = (7000 + 500 x) (80 —x)] 3=24
Ans6 =" 5 1 3000.00,900000] F 4157 = 2= {16000, 31000 } , Ans8= 4=11
- B 3=[23500, 11045001 5_[/15:121}
4R =143
L 6=[f(x)=2x] |
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Function03 Answers for No.10106

Ansl .1 > gray
.2 > green
.3 > yellow
.4 > red
.5 > black
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (=36,infinity) | (=9,infinity) | (-infinity,16)
.4 (8,0) | (=7,0),(5,0) | (1,0),(7,0) | (-5,0),(3,0) |
.5 (8,0) | (-1, —36) | (4, -9) | (-1, 16) |
.6 | Maximum | Minimum | Minimum | Maximum |
.7 max = 0 | min = -36 | min = -9 | max = 16 |
_I=[ AreaS(x)zx2 I
' AreaR=x (x+11)
B B I = [Income(x) = (4000 + 500 x) (100 —x)] 3=152
Ans6=['] _2[—P[(;CS)O_O(O700012205-(§032))]X]}’ Ans7 = 2= {13500, 40500} , Ans8 = 4=12
- S 3=[27000, 1458000 5_[AS:144}
~L4R =276
L 6=[f(x)=11x] |
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Function03 Answers for No.10139

Ansl .1 > blue
.2 > red
.3 > black
.4 > yellow
.5 > green
.6 > gray
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-1, 1nflnlty) | (- 1nf1n1ty, ) (=25,infinity) | (-infinity,16)
.4 (-8,0), (-6,0) | (2,0) | (-9,0),(1,0) | (0,0),(8,0) |
.5 (=7, —1) | (2,0) | (-4, —25) | (4, 16) |
.6 | Minimum | Max1mum | Minimum | Maximum |
.7 min = -1 | max = 0 | min = =25 | max = 16 |
I =[ AreaS(x)zx2
' AreaR = x (x + 8)
3 3 I =[Income(x) = (7000 + 500 x) (130 —x)] 3=65
Ans6=[1 —[2P£x[?280((2)(())020(())(.)50)]c)x]}’ Ans7 = 2= {15500, 56500} . AnsS = 4=5
- LR 3 =[36000, 2592000] 5_[AS=25}
“L4R =65
| .6=[f(x)=8x]
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Function03 Answers for No.10356

Ansl .1 > green
.2 > black
.3 > red
.4 > blue
.5 > yellow
.6 > gray
ans | 2 o 3 . 4 o 5
.20 -infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (-infinity,36) | (-16,infinity) | (-1,infinity) | (0, 1nf1n1ty)
.4 (=7,0),(5,0) | (-1,0), (7,0) | (2,0), (4,0) | ( 0) |
.5 | (-1, 36) | (3, —16) | (3, -1) | 0) |
.6 | Maximum | Minimum | Minimum | Mlnlmum |
.7 max = 36 | min = -16 | min = -1 | min = 0 |
_I=[ AreaS(x)zx2 I
' AreaR=x (x+11)
B B 1 =[Income(x) = (6000 + 500 x) (100 —x)] 3=42
Ans6=['] ‘2[?(31‘6(6570010 401'27’“])’“]}, Ans7 = 2= {15000, 41000} . Ans8 = 4=38
- LFI004 3 =[28000, 15680001 5_[AS:121}
" LAR =242
L 6=[f(x)=11x] |
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Function03 Answers for No.10366

Ansl .1 > green
.2 > red
.3 > blue
.4 > black
.5 > yellow
.6 > gray
ans | 2 o 3 . 1 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-4, 1nf1n1ty) | (0, lnflnlty) | (- lnflnlty, ) (- 1nf1n1ty, )
-4 (=8,0), (=4,0) | (=8,0) | (5,0),(9,0) | (=5,0), (=3,0) |
-5 (= 6 —4) | (-8,0) | (7,4) | (=4,1) |
.6 | Minimum | Mlnlmum | Max1mum | Max1mum |
.7 min = -4 | min = 0 | max = 4 | max = 1 |
_1 [ AreaS(x) = X’
' AreaR=x (x+11)
3 3 1 =[Income(x) = (4000 + 200 x) (80 —x)] .3=210
Ansé:[J ‘2“: (EC6)2‘5(0500015 602';‘0’6])’“]}, Ans7 = 2= {7800, 12200} . Ans8 = 4=13
= 194255 3=[10000, 500000 ] 5_[AS=169}
4R =312
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Function03 Answers for No.10706

X

Ansl .1 > yellow
.2 > green
.3 > blue
.4 > black
.5 > red
.6 > gray
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (-infinity,0) | (-=4,infinity) | (=9,infinity) | (- 1nf1n1ty, )
.4 (-8,0) | (2,0),(6,0) | (-2,0),(4,0) | (1,0), ( 0) |
.5 | (-8,0) | (4, —4) | (1, —9) | 4) |
.6 | Maximum | Minimum | Minimum | Max1mum |
.7 max = 0 | min = -4 | min = -9 | max = 4 |
I =[ AreaS(x)=x2 I
' AreaR=x (x+2)
B B I =[Income(x) = (6000 + 300 x) (70 —x)] 3=63
Ans6=['] - 2[%(?5)0‘0(07000175%30’“])x]}, Ans7 = 2= {10200, 16800} , Ans8 = 4=4
- LR 3=[13500, 607500] 5_[AS=16}
T 4R =24
L o=[f(x)=2x]
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Function03 Answers for No.10899

Ansl .1 > gray
.2 > blue
.3 > green
.4 > black
.5 > red
.6 > yellow
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (-infinity,0) | (- 1nf1n1ty, ) (- lnflnlty, ) (=16, infinity) |
.4 (4,0) | (1,0),(5,0) | (0,0),(2,0) | (-4,0),(4,0) |
.5 | (4,0) | (3,4) | (1,1) | (0, -16) |
.6 | Maximum | Max1mum | Max1mum | Minimum |
.7 max = 0 | max = 4 | max = 1 | min = =16 |
_I=[ AreaS(x)=x2 I
" lAreaR=x(x+9)
3 3 1 =[Income(x) = (3000 + 300 x) (90 —x)] .3=190
Ans6=['] ‘[g(f)[;l(igo352i7]x)x]}, Ans7 = 2 = {6000, 24000} . Ans8 = 4=10
=LA 3 =[15000, 750000] 5_[AS=64}
"~ AR =136
L 6=[f(x)=9x]
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Function03 Answers for No.10907

Ansl .1 > red
.2 > black
.3 > green
.4 > yellow
.5 > gray
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (=9,infinity) | (- 1nf1n1ty, ) (-infinity,25) | (- 1nf1n1ty, )
.4 (-4,0),(2,0) | (-1,0) | (=5,0),(5,0) | (20)( 0) |
.5 (-1, —9) | (-1,0) | (0, 25) | 4) |
.6 | Minimum | Max1mum | Maximum | Max1mum |
.7 min = -9 | max = 0 | max = 25 | max = 4 |
_I=[ AreaS(x)zx2 I
' AreaR=x (x+11)
1 =[P(x)=(600—0.3x)x] 1 =[Income(x)=(3000+300x) (110 -x)] 3=80
Ans6 = 2 =[1000.00, 300000] , Ans7 = .2=1{6300, 29700} , Ans8 = 4=6
B R 3 =[18000, 1080000 ] 5_[AS=9}
“L4R=42
L 6=[f(x)=11x] |
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Function03 Answers for No.10951

Ansl .1 > green
.2 > black
.3 > red
.4 > gray
.5 > yellow
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) (-infinity,infinity) (-infinity,infinity) (-infinity,infinity) |
.3 (-16,infinity) (- 1nf1n1ty, ) (=36, infinity) (-infinity, 0)
.4 (-5,0),(3,0) (0,0),(2,0) (-4,0),(8,0) (5,0) |
.5 | (-1, -16) (1,1) (2, -36) (5,0) |
.6 | Minimum Max1mum Minimum Maximum |
.7 min = -16 max = 1 min = -36 max = 0 |
_1 [ AreaS(x) = X’ }_
© ldreaR=x (x+10)
1= [P(x)= (400 — 02 x) x] 1 =[Income(x)=(3000+300x) (70 —x)] .3 =231
Ans6 = 2= [1000.00, 200000] , Ans7 = .2=1{8700, 15300} , Ans8 = 4=11
- o 3 =[12000, 480000 5_[AS=81}
T l4r=171
L 6=[f(x)=10x]
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Function03 Answers for No.11058

X

Ansl .1 > black
.2 > blue
.3 > yellow
.4 > red
.5 > gray
.6 > green
ans | 2 o 3 . 1 o s
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,16) | (- 1nf1n1ty, ) (=9,infinity) | (0, 1nf1n1ty) |
-4 (=1,0), (7,0) | (=8,0), (=6,0) | (0,0), (6,0) | ( 0) |
S5 | (3, 16) | (=7,1) | (3, -9) | 0) |
6 | Maximum | Max1mum | Minimum | Mlnlmum |
7 max = 16 | max = 1 | min = -9 | min = 0 |
_I=[ AreaS(x)=x" I
" |AreaR=x(x+9)
B B I =[Income(x) = (4000 + 500 x) (90 —x)] .3=190
Ans6=[']_2[%(?;0_0(07000245%8036])x]}, Ans7 = 2= {13000, 36000} . AnsS = 4=11
- LSS 3 =[24500, 1200500] 5_[/15:100}
AR =190
L 6=[f(x)=9x]
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X

Function03 Answers for No.11139

Ansl .1 > black
.2 > gray
.3 > yellow
.4 > green
.5 > blue
.6 > red
ans | 2 o 3 . 1 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-64,infinity) | (- 1nf1n1ty, ) (-=16,infinity) | (0, 1nf1n1ty)
-4 (=9,0), (7,0) | (=1,0),(1,0) | (=4,0), (4,0) | ( 0) |
-5 (-1, —64) | (0,1) | (0, —16) | 0) |
.6 | Minimum | Max1mum | Minimum | Mlnlmum |
.7 min = -64 | max = 1 | min = -16 | min = 0 |
I ] =[ AreaS(x)zx2
' AreaR=x (x+1)
3 3 1 =[Income(x) = (4000+400x) (110 —x)] 3=20
An56=|:'1 ‘[2P£x[)550((3)80758630’]‘)x]}, Ans7 = 2 = {8000, 40000 } . Ans8 = =11
a o 3 =1[24000, 1440000 ] 5_[AS:49}
"~ L4R =56
L 6=[f(x)=x]
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X

Function03 Answers for No.11142

Ansl .1 > gray
.2 > green
.3 > red
.4 > yellow
.5 > black
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (0, lnflnlty) | (=9,infinity) | (-1, 1nf1n1ty)
.4 (-2,0), (4,0) | (7,0) | (2,0),(8,0) | (-8,0), (-6,0) |
.5 | (1,9) | (7,0) | (5, -9) | (=7, —1) |
.6 | MaXLmum | Minlmum | Minimum | Minimum |
.7 max = 9 | min = 0 | min = -9 | min = -1 |
_1 =[ AreaS(x)=x
' AreaR =x (x +6)
= [P(x) = (600 — 0.4 x)x] 1 = [Income(x) = (4000 + 400 x) (100 — x) ] 3=112
Ans6 = 2 =[750.00, 2250001 , Ans7 = 2 = {8800, 35200 } , Ans8 = 4=3
CLETR 3 =[22000, 1210000] 5_[AS=25}
"~ AR =55
L 6=[f(x)=6x]
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X

Function03 Answers for No.11193

Ansl .1 > gray
.2 > green
.3 > blue
.4 > yellow
.5 > black
.6 > red
ans | 2 o 3 . 1 o s
20| infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (-infinity,16) | (=4,infinity) | (- 1nf1n1ty, )
-4 (=2,0) | (=4,0), (4,0) | (=2,0),(2,0) | (1,0), ( 0) |
-5 (=2,0) | (0, 16) | (0, -4) | 4) |
.6 | Maximum | Maximum | Minimum | Max1mum |
.7 max = 0 | max = 16 | min = -4 | max = 4 |
| ] =[ AreaS(x)=x"
" |AreaR=x(x+6)
1 =[P(x) = (400 — 0.2 x) x] 1 =[Income(x) = (7000 + 500 x) (90 —x)] 3=160
Ans6 = 2 =[1000.00, 200000] ) Ans7 = .2= {13000, 39000 } , Ans8 = 4=12
- Y 3=[26000, 1352000] 5_[/15:144}
4R =216
L 6=[f(x)=6x]
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Function03 Answers for No.12037

Ansl .1 > red
.2 > yellow
.3 > gray
.4 > green
.5 > blue
.6 > black
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (=25,infinity) | (- 1nf1n1ty, ) (-infinity,0) | (=4, infinity) |
.4 (=9,0),(1,0) | (-8,0),(-4,0) | (5,0) | (-2,0),(2,0) |
.5 (-4, —25) | (-6,4) | (5,0) | (0, —4) |
.6 | Minimum | Max1mum | Maximum | Minimum |
.7 min = =25 | max = 4 | max = 0 | min = -4 |
_I=[ AreaS(x)=x2 I
' AreaR=x(x+1)
B B 1 =[Income(x) = (4000 + 400 x) (80 —x)] 3=2
Ans6=['] ‘[ZPE’“[)ng((3)80372660’]C)x]}, Ans7 = 2= {12000, 24000} . Ans8 = 4=4
B R 3 =[18000, 810000 ] 5_[AS=36}
4R =42
L O=[f(x)=x] i
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X

Function03 Answers for No.12111

Ansl .1 > black
.2 > green
.3 > yellow
.4 > blue
.5 > red
.6 > gray
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (- 1nf1n1ty, ) (-infinity,36) | (=16, infinity) |
.4 (4,0),(8,0) | (3,0) | (=7,0),(5,0) | (-1,0),(7,0) |
.5 | (6,4) | (3,0) | (-1, 36) | (3, -16) |
.6 | MaXLmum | Max1mum | Maximum | Minimum |
.7 max = 4 | max = 0 | max = 36 | min = =16 |
i =[ AreaS(x)zx2
' AreaR =x (x +5)
I =[P(x)=(700 0.5 x) x] 1 =[Income(x)=(3000+ 300 x) (100 —x)] .3=24
Ans6 = 2 =[700.00, 2450001 , Ans7 = 2= {7500, 25500 } , Ans8 = 4=8
- LA 3=[16500, 907500] 5_[AS:100}
T L4AR =150
L 6=[f(x)=5x]
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X

Function03 Answers for No.12116

Ansl .1 > red
.2 > green
.3 > yellow
.4 > black
.5 > gray
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (- 1nf1n1ty, ) (-1,infinity) | (=16,infinity)
.4 (1,0) | (-8,0), (-6,0) | (0,0),(2,0) | (-1,0),(7,0) |
.5 | (1,0) | (=7,1) | (1, -1) | (3, -16) |
.6 | Maximum | Max1mum | Minimum | Minimum |
.7 max = 0 | max = 1 | min = -1 | min = =16 |
i =[ AreaS(x)zx2
' AreaR=x (x+9)
3 3 1 =[Income(x) = (6000 + 500 x) (100 —x)] 3=52
Ansé:[J ‘2“: (E‘7)5‘0(03000” 295'50’6])’“]}, Ans7 = 2= {13000, 43000} . Ans8 = 4=3
- LR 3 =[28000, 1568000] 5_[AS:9}
"~ AR =136
| 6=[f(x)=9x]
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X

Function03 Answers for No.12179

AreaS(x)zx2
reaR=x(x+9)
3=136

4="7

AS =64

=[AR=:136}

Ansl .1 > blue
.2 > black
.3 > yellow
.4 > green
.5 > red
.6 > gray
Ans | 2 | 3 | 4 | 5 |
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (0, 1nflnlty) | (-=4,infinity) | (-infinity,16) | (-infinity,25) |
.4 (-4,0) | (2,0),(6,0) | (-8,0),(0,0) | (-2,0),(8,0) |
.5 (-4,0) | (4, —4) | (-4, 16) | (3, 25)
.6 | Mlnlmum | Minimum | Maximum | Maximum |
.7 min = 0 | min = -4 | max = 16 | max = 25 |
o
A
I =[Income(x) = (4000 + 200 120 —
1 =[P(x)=(200-0.5x)x] [ (x)=( *) ( *)]
Ans6 = 2 =200.00, 200001 , Ans7 = 2= {8200, 19800 } , Ans8 =
B o 3 =[14000, 980000 ] 5
L 6=
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X

Function03 Answers for No.12324

Ansl .1 > green
.2 > yellow
.3 > gray
.4 > red
.5 > blue
.6 > black
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-=4,infinity) | (0, lnflnlty) | (- lnflnlty, ) (-4, 1nf1n1ty) |
.4 (2,0),(6,0) | (4,0) | (5,0),(7,0) | (-6,0),(-2,0) |
.5 (4, —4) | (4,0) | (6,1) | (-4, —4) |
.6 | Minimum | Minlmum | Max1mum | Minimum |
.7 min = -4 | min = 0 | max = 1 | min = -4 |
| =[ AreaS(x)=x2
© |AdreaR=x(x+17)
B B 1 =[Income(x) = (3000 + 500 x) (70 —x)] 3=44
Ans6=['] _2[—P[(§5)o_()(o7000122%é O’B)]x]}, Ans7 = .2 = {14000, 24000} . Ans8 = 4=4
- o 3 =[19000, 722000] 5_[AS=81}
T L4R =144
L .6=[f(x)=7x]
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X

Function03 Answers for No.13087

Ansl .1 > red
.2 > blue
.3 > green
.4 > yellow
.5 > black
.6 > gray
ans | 2 o 3 . 4 o 5
.20 -infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (-4, 1nf1n1ty) | (-=4,infinity) | (0, 1nf1n1ty) | (- 1nf1n1ty, )
.4 (-8,0), (-4,0) | (4,0),(8,0) | (7,0) | (10)( 0) |
.5 (- 6 —4) | (6, —4) | (7,0) | 4) |
.6 | Minimum | Minimum | Minlmum | Max1mum |
.7 min = -4 | min = -4 | min = 0 | max = 4 |
| ] =[ AreaS(x) =x
" |AreaR=x(x+5)
B B I =[Income(x) = (6000 + 300 x) (80 —x)] 3=14
Ans6=['] - 2[%(?20‘0(06000180%30’“])x]}, Ans7 = 2= {9600, 20400} . AnsS = 4=6
- LR 3 =[15000, 750000] 5_[AS=81}
4R =126
L .6=[f(x)=5x]
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X

Function03 Answers for No.13339

AreaS(x)zx2
reaR=x(x+9)
3=136

4=4

AS =81

B [AR _ 162}

Ansl .1 > black
.2 > blue
.3 > gray
.4 > yellow
.5 > green
.6 > red
Ans | 2 | 3 | 4 | 5 |
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (0, 1nflnlty) | (-infinity,16) | (- lnflnlty, ) (=25,infinity)
.4 (-8,0) | (=5,0),(3,0) | (2,0),(6,0) | (=3,0),(7,0) |
.5 (-8,0) | (-1, 16) | (4,4) | (2, -25) |
.6 | Mlnlmum | Maximum | Max1mum | Minimum |
.7 min = 0 | max = 16 | max = 4 | min = =25 |
-
A
I =[Income(x) = (6000 + 500 120 —
1 =[P(x)=(200—0.4x)x] [ (x)=( ) ( *)]
Ans6 = 2225000, 250001 , Ans7 = .2 = {14000, 52000 } , Ans8 =
B B 3=1[33000, 2178000 ] 5
L 6=
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Function03 Answers for No.13340

Ansl .1 > yellow
.2 > gray
.3 > blue
.4 > black
.5 > red
.6 > green
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) -infinity,infinity) -infinity,infinity) |
.3 (-infinity,0) | (- 1nf1n1ty, ) (- lnflnlty, ) (=16, infinity) |
.4 (=7,0) | (-8,0),(-2,0) (4,0), (6,0) (-1,0),(7,0) |
.5 | (=7,0) | (-5,9) (5,1) (3, -16) |
.6 | Maximum | Max1mum Max1mum Minimum |
.7 max = 0 | max = 9 max = 1 min = =16 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x +5)
3 3 1 =[Income(x)=(3000+ 300 x) (100 —x)] .3=176
Anséz[']_[I;(f)[;l(igoﬁgf]x)x]}, Ans7 = 2= {6300, 26700} . Ans8 = 4=7
=LA 3=[16500, 907500] 5_[AS:9}
4R =24
L 6=[f(x)=5x]
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X

Function03 Answers for No.13350

Ansl .1 > gray
.2 > red
.3 > yellow
.4 > Dblue
.5 > black
.6 > green
ans | 2 o 3 . 4 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (0, 1nflnlty) | (=25,infinity) | (- lnflnlty, ) (=25,infinity)
.4 (2,0) | (=7,0),(3,0) | (0,0),(2,0) | (-6,0),(4,0) |
.5 | (2,0) | (-2, -25) | (1,1) | (-1, -25) |
.6 | Minlmum | Minimum | Max1mum | Minimum |
.7 min = 0 | min = =25 | max = 1 | min = =25 |
i =[ AreaS(x)zx2
' AreaR = x (x + 8)
3 3 I =[Income(x) = (6000 + 300 x) (120 —x)] 3=65
A’M:[J_[prx[)liz(égolélggg]c)x]}’ Ans7 = 2= {11100, 30900} . AnsS = 4=3
S LS 3=[21000, 1470000] 5_[AS=49}
4R =105
| .6=[f(x)=8x]
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X

Function03 Answers for No.13361

Ansl .1 > black
.2 > blue
.3 > gray
.4 > yellow
.5 > red
.6 > green
ans | 2 o 3 . 4 o 5
2 | (-infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (- 1nf1n1ty, ) (- 1nf1n1ty, ) (-=16,infinity) | (-infinity,16)
.4 (40)( 0) | (-2,0) | (-2,0),(6,0) | (1,0),(9,0) |
5 (-1,9) | (-2,0) | (2, -16) | (5, 16) |
6 | MaXLmum | Max1mum | Minimum | Maximum |
7 max = 9 | max = 0 | min = -16 | max = 16 |
| ] =[ AreaS(x) =x
' AreaR =x (x +4)
3 3 1 =[Income(x) = (6000 + 500 x) (80 —x)] 3=12
Ans6=['] _[prizao(ggogogbso’]c)x]}, Ans7 = 2= {15000,31000} . AnsS = 4=3
I 3 =[23000, 1058000] 5_[AS=169}
T L4R =221
L 6=[f(x)=4x]
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Function03 Answers for No.13396

Ansl .1 > gray
.2 > green
.3 > blue
.4 > yellow
.5 > black
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (-1,infinity) | (-infinity, 64) | (-infinity,0) | (=9, infinity) |
.4 (1,0),(3,0) | (-8,0),(8,0) | (-6,0) | (-1,0),(5,0) |
.5 (2, —1) | (0, 64) | (-6,0) | (2, —9) |
.6 | Minimum | Maximum | Maximum | Minimum |
.7 min = -1 | max = 64 | max = 0 | min = -9 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x +4)
3 3 1 =[Income(x) = (5000 + 500 x) (130 —x)] .3=165
Ansé:[‘]‘[ZPE"[)ng((l)golngzo’]c)x]}, Ans7 = .2 = {16000, 54000} . Ans8 = 4=3
- L% 3 =[35000, 2450000] 5_[AS:144}
4R =192
L 6=[f(x)=4x]
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X

Function03 Answers for No.13406

Ansl .1 > black
.2 > gray
.3 > blue
.4 > yellow
.5 > green
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-81,infinity) | (- 1nf1n1ty, ) (=25,infinity) | (0, 1nf1n1ty)
.4 (=9,0),(9,0) | (=7,0),(=-5,0) | (-2,0),(8,0) | (-1,0) |
.5 (0, —81) | (-6,1) | (3, -25) | (-1,0) |
.6 | Minimum | Max1mum | Minimum | Mlnlmum |
.7 min = -81 | max = 1 | min = -25 | min = 0 |
_1=[ AreaS(x)zx2
' AreaR =x (x+2)
1 = [P(x) = (400 — 0.2 %) ¥] 1 = [Income(x) = (4000 + 200 x) (100 — x)] 3=15
Ans6 =" 1000.00,200000] b 4157 = 2= {6800, 17200} , Ans8= 4=9
- o 3 =[12000, 720000] 5_[AS=64}
= L4R =80
L 6=[f(x)=2x]
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Function03 Answers for No.13433

Ansl .1 > yellow
.2 > blue
.3 > gray
.4 > black
.5 > red
.6 > green
ans | 2 o 3 . 4 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (- 1nf1nlty, ) (-1,infinity) | (-infinity,0) | (-infinity,49) |
.4 (40)( 0) | (3,0),(5,0) | (8,0) | (=7,0),(7,0) |
.5 (-1,9) | (4, —1) | (8,0) | (0, 49)
.6 | MaXLmum | Minimum | Maximum | Maximum |
.7 max = 9 | min = -1 | max = 0 | max = 49 |
_1=[ AreaS(x)zx2 }_
' AreaR=x (x+7)
3 3 I =[Income(x) = (7000 + 500 x) (110 —x)] 3=170
Ansé:[J‘[2P£x[)350((3)80458650’]c)x]}, Ans7 = 2= {16000, 46000 } , Ans8= 4=11
- LoVEE 3=[31000, 1922000] 5_[AS:144}
4R =228
L 6=[f(x)=Tx] |

X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKXKXXXKXKXKXXXKKKXKXXKKKKXXKKKKXXXKKKX KKK KKK KKK KKKK XK KKK KKK KKK XK KKKK KX KKKKKX



D ERVERHNCIVISENED $.9:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y LT WA LA ICEL 0 0 10 )22°) 0’6
Function03 Answers for No.13473

Ansl .1 > gray
.2 > yellow
.3 > green
.4 > black
.5 > red
.6 > blue
ans | 2 o 3 . 4 o 5
2 | (-infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (- 1nf1n1ty, ) (0, lnflnlty) | (-infinity,1) | (-1, 1nf1n1ty) |
4 (=7,0), (=3,0) | (=5,0) | (~8,0), (~6,0) | (~=4,0), (=2,0) |
5 | (=5,4) | (=5,0) | (=7,1) | <3—1>|
6 | MaXLmum | Mlnlmum | Maximum | Minimum |
7 max = 4 | min = 0 | max = 1 | min = -1 |
_I=[ AreaS(x)=x" I
" |AreaR=x(x+9)
B B I =[Income(x) = (4000 + 500 x) (90 —x)] 3=136
Ans6=['] ‘Z[E([’%go(ggomg‘szog;x]}, Ans7 = 2= {10500, 38500} . AnsS = 4-9
- e 3 =[24500, 1200500] 5_[AS:49}
“Tlar=112
L 6=[f(x)=9x]

X [Page = 0029] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKXKXXXKXKXKXXXKKKXKXXXKKKKKXKKKKX XX KKK KK KKK KKK KKKKX XX KKK KKK KKK KX KKKKKKXKKKKKX



D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y LT WA LA ICEL 0 0 10 Jc 1 0) 0.6
Function03 Answers for No.13485

Ansl .1 > yellow
.2 > blue
.3 > red
.4 > gray
.5 > green
.6 > black
ans | 2 o 3 . 4 o s
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,16) | (-1,infinity) | (-=16,infinity) | (0, 1nf1n1ty)
.4 (0,0),(8,0) | (2,0), (4,0) | (=7,0),(1,0) | (=5,0) |
5 | (4, 16) | (3, -1) | (-3, -16) | (=5,0) |
6 | Maximum | Minimum | Minimum | Mlnlmum |
7 max = 16 | min = -1 | min = -16 | min = 0 |
_I=[ AreaS(x)=x2 I
" |AreaR=x(x+6)
3 3 1 =[Income(x) = (3000 + 300 x) (80 —x)] .3=187
Ans6=['] _[ZPEX[)357(?2089§-8’763]C)X]i|’ Ans7 = .2 = {9000, 18000} . Ans8 = 4=12
- o 3=[13500, 607500] 5_[/15:121}
" LAR =187
L 6=[f(x)=6x] |
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Function03 Answers for No.14126

Ansl .1 > green
.2 > red
.3 > gray
.4 > Dblue
.5 > yellow
.6 > black
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-1,infinity) | (- 1nf1n1ty, ) (=49, infinity) | (-infinity,0) |
.4 (3,0),(5,0) | (2,0),(6,0) | (-6,0),(8,0) | (-9,0) |
.5 (4, —1) | (4,4) | (1, —49) | (-9,0) |
.6 | Minimum | Max1mum | Minimum | Maximum |
.7 min = -1 | max = 4 | min = -49 | max = 0 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x +6)
~ ~ 1 =[Income(x) = (4000 + 200 x) (110 — x) ] 3=112
Anséz[']_[2P£x[)1;2(§(6)014§é76)]c)x]}, Ans7 = .2 = {6000, 20000} . Ans8 = 4=11
- L25459, 3=[13000, 845000] 5_[AS:121}
“L4R =187
L 6=[f(x)=6x]
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Function03 Answers for No.14148

Ansl .1 > green
.2 > black
.3 > blue
.4 > gray
.5 > red
.6 > yellow
ans | 2 o 3 . 4 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-1,infinity) | (- 1nf1n1ty, ) (- lnflnlty, ) (=16, infinity) |
.4 (5,0),(7,0) | (-6,0) | (0,0),(2,0) | (=7,0),(1,0) |
.5 | (6, —1) | (-6,0) | (1,1) | (-3, —16) |
.6 | Minimum | Max1mum | Max1mum | Minimum |
.7 min = -1 | max = 0 | max = 1 | min = =16 |
_I=[ AreaS(x)=x I
" [AdreaR =x (x+10)
B B I =[Income(x) = (6000 + 500 x) (130 —x)] .3=96
Ans6=['] _[prx[)zgo(ggo37g(')6o’]€)x]}, Ans7 = 2= {16500, 54500} . AnsS = 4=5
- o 3=[35500, 2520500] 5_[/13:64}
7 4R =144
L 6=[f(x)=10x] |
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X

Function03 Answers for No.14313

Ansl .1 > red
.2 > gray
.3 > black
.4 > green
.5 > blue
.6 > yellow
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-1, 1nflnlty) | (-infinity,16) | (0, 1nf1n1ty) | (-infinity,25) |
.4 (=5,0), (=3,0) | (=7,0),(1,0) | (6,0) | (=3,0),(7,0) |
.5 (-4, —1) | (-3, 16) | (6,0) | (2, 25)
.6 | Minimum | Maximum | Minlmum | Maximum |
.7 min = -1 | max = 16 | min = 0 | max = 25 |
I ] =[ AreaS(x)zx2
' AreaR =x (x +4)
3 3 I =[Income(x) = (6000 + 300 x) (130 —x)] 3=12
Ans6=[1 B Z[Ii (EC;S_O(OZ’OOOIU%OX])X]}, Ans7 = 2= {9600, 35400} . AnsS = 4=5
- LR 3 =[22500, 1687500] 5_[AS=36}
4R =60
L 6=[f(x)=4x]
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X

Function03 Answers for No.14370

Ansl .1 > gray
.2 > blue
.3 > black
.4 > red
.5 > green
.6 > yellow
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-=4,infinity) | (0, lnflnlty) | (- lnflnlty, ) (=36,infinity)
.4 (4,0),(8,0) | (2,0) | (-2,0),(2,0) | (=5,0),(7,0) |
.5 (6, —4) | (2,0) | (0,4) | (1, —36) |
.6 | Minimum | Minlmum | Max1mum | Minimum |
.7 min = -4 | min = 0 | max = 4 | min = -36 |
_1=[ AreaS(x)zx2
' AreaR=x (x+7)
3 3 1 =[Income(x) = (6000 + 500 x) (110 —x)] 3=8
Ansé:[J ‘2“: (82;(5670012 S%ZIX])X]}, Ans7 = 2= {12500, 48500} . Ans8 = 4=3
— L8282 3=[30500, 1860500 ] 5_[AS=64}
4R =120
L 6=[f(x)=7x]
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Function03 Answers for No.14377

Ansl .1 > gray
.2 > yellow
.3 > blue
.4 > red
.5 > black
.6 > green
ans | 2 o 3 . 4 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (0, 1nflnlty) | (- 1nf1n1ty, ) (-4, 1nf1n1ty) | (=16,infinity)
.4 (-2,0) | (-6,0), (-4,0) | (=7,0),(=3,0) | (-3,0),(5,0) |
.5 | (-2,0) | (=5,1) | (- 5 -4) | (1, -16) |
.6 | Mlnlmum | Max1mum | Minimum | Minimum |
.7 min = 0 | max = 1 | min = -4 | min = =16 |
_I=[ AreaS(x)=x" I
' AreaR=x(x+1)
B B 1 =[Income(x) = (5000 + 500 x) (80 —x)] 3=72
A’M:[j_[2P£x[)1;2(§2014§é76)]€)xq’ Ans7 = 2= {11500, 33500} . Ans8 = 4=9
CLEet 3 =[22500, 1012500] 5_[AS:9}
“L4R=12
L O=[f(x)=x] i
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Function03 Answers for No.14430

Ansl .1 > red
.2 > gray
.3 > green
.4 > blue
.5 > yellow
.6 > black
ans | 2 o 3 . 1 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,25) | (-=4,infinity) | (-infinity,0) | (- 1nf1n1ty, )
-4 (=1,0),(9,0) | (=1,0),(3,0) | (=8,0) | (4,0), ( 0) |
-5 (4, 25) | (1, —4) | (-8,0) | 1) |
.6 | Maximum | Minimum | Maximum | Max1mum |
.7 max = 25 | min = -4 | max = 0 | max = 1 |
_I=[ AreaS(x)=x I
' AreaR=x (x+11)
I =[P(x)=(300—0.1x)x] I =[Income(x) = (4000 + 400 x) (100 —x)] .3=280
Ans6 = 2 =[1500.00, 225000] ) Ans7 = .2 = {8000, 36000 } , Ans8 = 4=6
- . 3 =[22000, 1210000] 5_[AS:64}
4R =152
L 6=[f(x)=11x] |
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Function03 Answers for No.14432

Ansl .1 > yellow
.2 > blue
.3 > gray
.4 > green
.5 > red
.6 > black
ans | 2 o 3 . 4 o 5
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (-1,infinity) | (-infinity,36) | (0, 1nf1n1ty)
.4 (3,0),(5,0) | (-1,0), (1,0) | (=3,0),(9,0) | (-8,0) |
5 (4,1) | (0, -1) | (3, 36) | (-8,0) |
6 | MaXLmum | Minimum | Maximum | Mlnlmum |
7 max = 1 | min = -1 | max = 36 | min = 0 |
_I=[ AreaS(x)=x" I
' AreaR=x(x+1)
B B I =[Income(x) = (6000 + 300 x) (90 —x)] 3=42
Ans6=['] ‘[ZPEX[)zgS(;‘?OSX:;]C)x]}, Ans7 = 2= {10500, 22500} . AnsS = 4=7
—Le82 15 3=[16500,907500] 5_[AS:9}
T l4R=12
L O=[f(x)=x] i
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